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PRACTICE PAPER-1 (2021-22)

CLASS : XI
SUBJECT: ECONOMICS (030)

Time Allowed : 90 minutes Maximum Marks : 40
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Instructions:

e There are a total 60 questions in this paper out of which 50 questions are to be
attempted.

e This paper is divided into three sections:
o Section-A — Contains 24 questions. Attempt any 20 questions.
o Section-B — Contains 24 questions. Attempt any 20 questions.
o Section-C — Contains 12 questions. Attempt any 10 questions.
e All questions carry equal marks. Each question carry 0.8 marks.

e There is no negative marking.
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WUS: ‘37’ (Section-A)

24 U9l H | 20 UIT &A HH B

20 questions out of 24 questions are to be attempted.

1.

frafafed & o ®F @ snfedw nfafafy @2

(a) SUHN (b) Tud =1 9 =1 G

(c) TRl H wnfae g (d) BEgfa

Which of the following is an economic activity?

(a)  consumption (b) father teaching to his son
(c) attending parties (d)  scholarship

frafafed o o wFa snfds gaemst w1 R T 22

(a) Hifga GEeE (b) Hifad AFE SAEvAEHATT

(c) WHRMA & dehfeqss TN (d) TI R GHE

Which one of the following is not the cause of economic problems?
(a)  Limited resources. (b) Limited human wants .

(c)  Alternative uses of resources. (d) Problem of choice.

tar safed S fret o= safed & fou o1 &ear @ 3R 39 fou ad9 =

Y W YA TG HET ® TE e Fedrd § - (WS fasheu w1 =
)

(a) IRH (b) SUHEM

(c) Ta =T (d) T URH

A person who works for another person and gets paid as salary for it is
called . (Choose the correct alternative)

(a)  Producer (b) Consumer

(c)  Service provider (d)  Service holder
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TF 991 & &9 § efafad § 9 o9 @ giferst 18 22

(a) ARSI 1 Hehor

(b)  3ThSI KT FEKIATHI

(c) TSI T1 FAHI

(d) Efyd €9 9 TUfed &S 3Hs

In singular sense which of the following is not statistics
(a)  Collection of data

(b)  Presentation of data

(c) Classification of data

(d)  Systematically collected numerical data
frefafaa wol &1 Hgds afge iR frefafaa & 9 @& fagey &
EREECHIIS I

YA 1 - e e o Gifeas! &1 &E "ed el el

HUT 2 - WifEAH! & R Sfed qeal i W S Sl @)
(a) < wHeH T ®

(b) Tl HUE EA T

(c) e | T § AN HeH 2 3 ©

(d) HUT 1 TET T AN HY 2 A ©

Read the following statements carefully and choose the correct alternative
from the following.

Statement 1:- There is no importance of statistics in economic planning.
Statement 2:- Complex facts are simplified through statistics.

(a)  both statement are true

(b)  both statement are false

(c) Statement 1 is true and statement 2 is false

(d) Statement 1 is false and statement 2 is true
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dqhe Wl o Gd ¥ Weell 9R Hufed +T I T ... HEad Bl (e
fasreq 1 ==\ W)

(a) TUfH® oTiFe (b) fsditas Tihs

(c) AR 3Thg (d) TRIRE 3The

The data which are collected for the first time from the original source are

called . (choose the correct alternative)

(a)  Primary data (b)  Secondary data

(c) Internal data (d)  Published data

S TR & A SEeN SAd 8 a9 8H ....... T JART AT A6
(a) EUr fafy (b) gfd=A fafy

(c) ST A (d) TH 9 ®E =&

When the population under investigation is infinite then we should use

(a)  Census method (b) Sampling method

(c)  Both of the above (d) None of these

T yiaee! gaermr, f=1 4 9 %9 9 Sfhe YRIRIG i © 7

(a) A TTHEA (b) SHEEA T

(c) fam ergua (d) TSR

The National Sample Survey publishes which of the following data?
(a)  Total Population (b)  Population Density

(c) Sex Ratio (d) Employment.

M 15-20 1 A fog B - (W fashed 1 =99 )

(a) 17 (b) 17.5

(c) 18 (d) 185
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10.

11.

12.

Mid point of class 15-20 will be: (choose the correct alternative)
(a) 17 (b) 175
(c) 18 (d 185

TR faaeer § 9™ oM STeTia el © -

(a) dTfas i W (b) T T HHe |

(c) TTacht = et ™ (d) @ & 7 f§gs W
Statistical calculations in frequency distribution :

(a)  on actual values. (b)  onupper class limits.

(c) onlower limits (d)  on mid points of the class.
= 9 i o fafas = @2

(a) HHAIA T FE&A (b) HHAME &I 3=

(c) HHAAT T SR (d) HHARAT T T

Which of the following is a discrete variable?

(a)  Number of employees (b) Income of employees

(c)  Height of employees (d)  Weight of employees

el T ... % HRO 3T 2t 21 (TS fashey &1 =T )
(a) < HT ITH SEE (b) TWIRK & s yiqeat

(c) THMA & dehfeush ST (d)  frefar etfuehan @y = ®

The economic problem arises dueto . (choose the correct alternative)
(a)  the high population of the country

(b)  competition among buyers

(c) alternative use of resources

(d)  producer wants maximum profit
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13.

14.

frefefad siem 1 3R wiem 2 9 SoFl & & 9 &1 989 i

hicTH-1 hicTH-2
(i) | T IR™ (A) | fgforft s
(i) | goft s (B) |wewi ¥ fawfsa
(i) |9 smw (C) | ufqerd =t 360° & oM
(iv) |g=ft emgfa ok D) | siSmEE
fyFeT -
(@ ()-A (b) (ii)-B
(c) (iii)-C (d) (@v)-D

Identify the correct pair of statement from the following column 1 and
column 2.

Column 1 Column 2
(1) Simple bar diagram (A) | Two dimensional diagram
(i1) Time series graph (B) | Divided among the components
(111) | Pie diagram (C) | Percentage multiplied by 360°
(iv) | Cumulative frequency curve | (D) | Ogive

Alternatives:
(@ ()-A (b) (ii)-B
(¢) (ii)-C (d) (@v)-D

frefafad ol w1 eHgds ufgu iR fefafad § 9 @& fawey &1
T hifSIT-

FUF | - dga® i WEE ®9 H Fuifa 7 fFa 1w 2

HUF 2 - Tgk A T F YAl § YA TEl B 2
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15.

16.

(a) < wUT T B
(b) < HUH FHA T
(c) U 1 TA ¢ 3N HoH 2 ITA 2

(d) HT | IEA B R HUH 2 TA €

Read the following statements carefully and choose the correct alternative
from the following.

Statement 1:- Mode can not be determined graphically.

Statement 2:- Mode is not affected by the values of extreme items.
(a)  both statement are true

(b)  both statement are false

(c) Statement 1 is true and statement 2 is false

(d) Statement 1 is false and statement 2 is true

yoet fafyr g TWieR A1e T HE H G € -

@) X-a+2d b X=>L
>t >fx

- >fd - xfx
X=A-—"— d X===

(©) = (d) =

The formula for finding the arithmetic mean by the direct method is:

@ X=as+2ld b XL
>t >fx

- >fd _ Sfx
X=A—— d X=—

(©) = (d) =

= o 9 e gau =afte s 9 ® -
(@) W H HMd R ¥ gfg (b) RIS T THEN
(c) T o= () <@ Ed & A
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17.

18.

19.

Which of the following is related to microeconomics.
(a)  Rise in the price level in the country

(b)  Problem of unemployment

(c)  National income

(d) Income of Tata Steel
9,13, 14, 16, 18 =T HILA B - (W& faeeq 1 =99 W)

(@ 14 (b) 145
(c) 13 (d 135
Mean of 9, 13, 14, 16, and 18 will be : (choose the correct alternative)
(@ 14 (b) 145
(c) 13 (d 13.5

&gt i frat AN T SR fRal ST b1 Gey eteforaen &t i
T e 9 27

(a) R Ic_A foha ST (b) &Y IcuaEA fman W@

(c) frus fau s ffan S (d) &9 IARA v S

Which of the central problem of the economy concerned with what quantity
of goods to be produced? (choose the correct alternative)

(a)  what to produce (b)  how to produce
(c)  for whom to produce (d)  when to produce
SYAATAT i UM aTeeh S0l | ........ g1 1 S @
() T (b) Efem

(c) Ffeem (d) HHG SYHIT
Utility 1s measured in Cardinal approach by

(a)  rupees (b) dollar

(c) utils (d) marginal utility
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20. T oeqgetl 1 feufa o SuwiEn dqeH w1 I ® ¢ (SR foaeew &1 A

21.

22.

)

(a) MUx.Px=PUy.Py (b) MUx/Px=MUy/Py

(c) MUx.MUy.=Px.Py @ MUx_Py
MUy Px

In case of two goods the condition of consumer equilibrium is : (choose the
correct alternative)

(a) MUx.Px=PUy.Py (b) MUx/Px=MUy/Py
(c) MUx.MUy.=Px.Py @ MUx_Py

MUy Px
= & 9 frm &t 9 JefeRR gnit?
(a) HH (b) TH HEP
(c) ThX (d) Urehfde a&]
Which of the following will have inelastic demand?
(a) Salt (b)  Air Conditioner
(c)  Scooters (d) Natural good

frefeafad weml 1 eamyds ufeu iR frefafes & 94 @&l faweq
I HIT -

FUT | - 9 WA H fThe MO ol T a% hI A AR
TR B B

w2 - foenfaar &1 oege &1 Wi g At oiEer B B

(a) A FHU TA B

(b) B FHUT FHA B
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23.

24.

(c) U 1 TA T 3N HoH 2 ITA €

(d) HUT | A B N HYT 2 TA T

Read the following statements carefully and choose the correct alternative
from the following.

Statement 1:- The demand for good with a large number of close substitutes
1s more elastic.

Statement 2:- The demand for the luxury goods is often more elastic.
(a)  both statement are true

(b)  both statement are false

(c) Statement 1 is true and statement 2 is false

(d) Statement 1 is false and statement 2 is true

afs fdt o ®id o 20% URad 8F & HRO ITHT T H 20%
gfeds gian €, @ |7 1 ®iEd @ (Bd) B -

(a) Ed=0 (b) Ed=l

(c) Ed>1 (d) Ed<l

If demand of a commodity changes by 20% due to 20% change in its price,
then price elasticity of demand (Ed) will be:

(a) Ed=0 (b) Ed=1
(c) Ed>1 (d) Ed<l

ae 1@l K1 AN Bl ¢ : (TS Toeheq w1 @A i)
(a) AY/AX (b) AX/AY

(c) PJPy (d PPy

The slope of budget line is : (choose the correct alternative)
(a) AY/AX (b) AX/AY

(c) PJPy (d Py/Py
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WUS: ‘A’ (Section-B)

24 I H | 20 UIT T HH &

20 questions out of 24 questions are to be attempted.

25.

26.

27.

TorfTeh SfieRl, ........ % IMUN W Mgl *l THET HH HI Fed 2

(a) RfeAfa (b) TN

(c) ¥ (d) T

Spatial classification is the grouping of the data on the basis of
(a)  Situation (b) Places

(c) Time (d)  Quality

If% T 100 7 3R o SRS 20 T 9 S ki HeA foRat ghfi?
(a) 200 (b 20

(¢) 5 (d 10

If the range 1s 100 and the class interval is 20, then what will be the number
of classes?

(@) 200 (b) 20
(c) 5 (d 10

T faaur & fag 12, 16, 20, 24 2, 99 99 o9 3faUal B0 : (e
faeheq &1 == )|

(a) 10-14 (b)  11-15

(c) 10.5-14.5 (d) 11.5-15.5

The class mark of a distribution are 12, 16, 20, 24 then first class interval
will be: (choose the correct alternative)

(a) 10-14 (b) 11-15
() 10.5-14.5 (d) 11.5-15.5
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28.

29.

Hell 11 & fafa= am o fa STER S& &1 9@ i I arell qRol
2 -

(a) hITIshiHeh HRUM (b)  TUMHR HRUM

(c) irifersh HROM (d) HEIHS HRO

Number of students (sex wise) in different sections of Class 11 will be
shown by

(a)  Chronological table (b)  Qualitative table

(c)  Geographical table (d)  Quantitative table
frefefad weml 1 eamyds ufeu iR frefafes & 9@ @&l faweq
TIq il -

Fo9 1 - GO & Wl % U e iR Su-vive w w9 vids wed
2l

FUT 2 - RO w1 frafg | vides w1 siftum dfas ofeaal & i
9 Bl 2

(a) < wHeH T ®
(b) T BT TEA §
(c) U | UcA ¢ N HoH 2 3IEA €

(d) T | A B N HYT 2 T ©

Read the following statements carefully and choose the correct alternative
from the following.

Statement 1:- The headings and sub-headings given to the columns of the
table are called captions.
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30.

Statement 2:- In the case of tabulation, title refers to headings of horizontal
TOWS.

(a)  both statement are true
(b)  both statement are false
(c) Statement 1 is true and statement 2 is false

(d) Statement 1 is false and statement 2 is true

frefafad ol &1 eHgds afgu iR fefafag & 9 @€ fawey &1
= HINT -

FHIT | - oAd foo 4 i Rom wum =&l sier s 2

HUH 2 - A 93 TH ST 3@ R
(a) T hed TA B
(b) =Nl HUA FEA T
(c) U 1 HA € 3N HUT 2 ITA §

(d) U 1 IEA B AR Y 2 HA

Read the following statements carefully and choose the correct alternative
from the following.

Statement 1:- No blank space is left in the histogram.
Statement 2:- The histogram is a one-dimensional diagram.
(a)  both statement are true

(b)  both statement are false

(c) Statement 1 is true and statement 2 is false

(d) Statement 1 is false and statement 2 is true
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31.

32.

33.

IR0 U &9 9 7 6 99 FH § 7EE R 2

(a) 9ETH (b) EA
(c) wIfeAahT (d o fo=
Ogive can be helpful in locating graphically the following:
(a) Mode (b) Mean

(c) Median (d) Class mark

afg ferddt goft &1 T8 13 IR wfeaer 21 @, 99 WA B - (e
fasreq 1 ==F W)

(a 22 (b) 23

(c) 24 d 25

If mode and median of a series are 13 and 21 respectively then the mean will
be: (choose the correct alternative)

(@ 22 (b) 23
(c) 24 (d 25

10 eToll T WEA 14 B, Wk A YU 25 g4 W AA1 WEA A1 B2
(Tt fasmey &1 =99 W)

(@) 13 (b) 14
(c) 15 d 16

The mean of 10 observations is 14, what will be the new mean by adding a
new observation 25? (choose the correct alternative)

(@ 13 (b) 14
(¢ 15 (d) 16
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34.

35.

frefafad ol &1 eHgds afgu iR fefafag & 9 @& fawey &1
I HIST -

HUF 1 - HIEA H UHE ®©Y § YEHia fhar &l S Hehel 2
HOF 2 - WA WA oA ¥y g

(a) < e T ?
(b) < HUH FHA T
(c) U 1 TF ¢ 3N HeH 2 3IEA €

(d) T | A B N HYA 2 T ©

Read the following statements carefully and choose the correct alternative
from the following.

Statement 1:- Mean cannot be represented graphically.
Statement 2:- Mean is affected by extreme values.

(a)  both statement are true

(b)  both statement are false

(c) Statement 1 is true and statement 2 is false

(d) Statement 1 is false and statement 2 is true

TR g 9 9} Uel o fa=er & Fi gl 21 (T fasey o1
I H)

(@) A (b) TH

(c) T& ¥ 3ty d) 3x

Sum of deviation of all items from A.M. is always equal to .....
(a) zero (b) one

(c)  more than one (d 2x
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36.

37.

38.

Th SOt W Hed eI SR S ol Hod ... Shedrd gl

(a) W= (b) ETR

(c) HIfeeh (d) SRRl

The most frequently occurring value in a series is called .....
(a) Mean (b) Mode

(c) Median (d) Frequency

2,3,4,3,6,3,X,4,5,4,7 1 98 4 B 9 X 1 AH =1 M2 (T
fased =1 =99 W)

(a) 4 (b) 3
(c) 2 (d 5
Mode of 2,3,4,3,6,3,X,4,5,4,7, 1s 4 then what will be the value of X?
(a) 4 (b) 3
() 2 (d 5

AR (A): TR HE T THR LT 40 21 97€ Y&k WS H W UiE S
e San €, 99 T4 A " 45 B

FHRU (R) : Tordt 9ot & ys A8 § s Ffiwd 9@ seM W gHi|
e ot 39 §&A & Sel 96 S|

(a) AR (A) IR HRUT (R) <A T & 3R RO (A) TR (A)
1 TE A 2l

(b) YA (A) 3R SR (R) T T & 3 HROT (A) AR (A)
%1 Tl e T 2

(c) afqeper (A) Wl 8, fehd RO (R) Tord &1

(d) eIfReF (A) Tord €, WfeRd RO (R) WD R
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39.

Assertion (A) : The arithmetic mean of four items is 40. If five is subtracted
from each item, then the new arithmetic mean will be 45.

Reason (R): If each item of series is increased by certain number, then mean
will also increase by same number.

(a)  both Assertion (A) and Reason (R) are true and Reason (R) is correct
explanation of Assertion (A).

(b)  both Assertion (A) and Reason (R) are true and Reason (R) is not the
correct explanation of Assertion (A).

(c)  Assertion (A) is true but the Reason (R) is false.

(d)  Assertion (A) is false but the Reason (R) is true.

Affmed (A): 9RdE srefereen d #iMd AR 9g W@l €, T8 TH
ThIcHs AT 1 IR 2|

FRU (R) : GHNHS AU § anfefr woeqd o €, SEhT 316
ERIES IS

(a) MIHE (A) 3R SR (R) T T & 3 HROT (A) AR (A)
+1 TE e 2l

(b) YA (A) 3R SR (R) T T & 3 HROT (A) AR (A)
1 Tl e T8l 2

(c) eIfieher (A) @&l ®, Wfeh %RoT(R) Terd R

(d) Af9ReA (A) Tod €, wifRd RO (R) Wl R

Assertion (A):- Prices are increasing continuously in the Indian economy,
this is an example of a positive economics.

Reason (R): Positive economics deals with what are the economic problems.

17 XI-ECONOMICS



40.

(a)

(b)

(c)
(d)

both Assertion (A) and Reason (R) are true and Reason (R) is correct
explanation of Assertion (A).

both Assertion (A) and Reason (R) are true and Reason (R) is not the
correct explanation of Assertion (A).

Assertion (A) is true but the Reason (R) is false.

Assertion (A) is false but the Reason (R) is true.

AR (A): et g8 Hia SwEfitr fem & SER SE-SiW '9 T
T HT AfIF THEA HT SUAT FW € o ST SHE W e ot
SuAifrar fedt 21

T (R) : S/ MU BUTcHe Bt © d TU 52dl 2l

(a)

(b)

(c)
(d)

AfTHLT (A) IR FRU (R) IAT T T 3R FRU (A) TR (A)
& el = 2

fTeReM (A) 3R HROT (R) SHI T & 3R R0 (A) Ao (A)
*1 9El e e R

AfqeReM (A) W&l ®, wfehd %RO1(R) Teld 2|

Afashe (A) Terd 8, AfRT HRT(R) Lt =

Assertion (A) : According to the law of diminishing marginal utility, as we
consume more units of a good, the utility from each next unit falls.

Reason (R): When MU is negative, TU decreases.

(a)

(b)

(d)

both Assertion (A) and Reason (R) are true and Reason (R) is correct
explanation of Assertion (A).

both Assertion (A) and Reason (R) are true and Reason (R) is not the
correct explanation of Assertion (A).

Assertion (A) is true but the Reason (R) is false.

Assertion (A) is false but the Reason (R) is true.
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41.

AR (A): SFRITH ook - 1 31X firan &

HROT (R) : Tk 9% i 3MUE ThEAl 1 ITAN & & faw & a5
%1 PD THZAl B AN HET TSdl &

(a)

(b)

(c)

(d)

ARTHL (A) IR HROT (R) AT T € 3 RO (A) 3FIHEA (A)
# W AR R

AT (A) IR HROT (R) A T € 3R RO (A) fIHeA (A)

F TE e T 2

Al (A) TS T, Wl HR0(R) Tod R

Afahed (A) Ted €, AT HROT(R) TET 2

Assertion (A) : The indifference curve slopes downwards.

Reason (R): In order to consume more units of one good, some units of the

other good have to be sacrificed.

(a)

(b)

(c)
(d)

both Assertion (A) and Reason (R) are true and Reason (R) is correct
explanation of Assertion (A).

both Assertion (A) and Reason (R) are true and Reason (R) is not the
correct explanation of Assertion (A).

Assertion (A) is true but the Reason (R) is false.

Assertion (A) is false but the Reason (R) is true.
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42.

frefefad siem 1 3R wiem 2 9 SoFl & & 9 &1 989 i
HicTH-1 RICTH-2
(i) | ey e (A)  |9E R 9
(i) | wm Ty B) |sma # gfg ¥ Txg &I "M
sfEfdd &t 7
(i) | =R Tl ©) | # gfg & Wy oy =
i ¥ gfg
(iv) | o e (D) |99 3R =
forshea -
(@) ()-A (b) (ii)-B
(c) (i1)-C (d) (@v)-D
Identify the correct pair of statement from the following column 1 and
column 2.
Column 1 Column 2
(1) Substitute goods (A) | Bread and butter
(i1) Normal goods (B) | The demand for the commodity
remains unchanged with an
increase in income
(ii1)) | Inferior goods (C) | Demand of good increases with
an increase in income
(1v) Complementary goods (D) | Pen and Ink

20
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Alternatives:

(@ ({D-A (b) (i)-B

() (ii)-C (d) (iv)-D
frefefead & @ w9 @ oma a@m o gfg @ fufq & <wia 82

Which of the following diagram represent the situation of increase in

demand?

(o9)

>

D D
P1 \ P2 '\

B A
P2 \D P1 \D

FHd (F)
Price (Rs.)
FHd (T

Price (Rs.)

% 0 azar X
HAT (demand) (in units)

(b)

0 _araz
HAT (demand) (in units)

AY
D

D\~ D
A B ' A B

(a)
1
” D/ \01 D/\D

0 QT a2z X 0 Q2 a1 X

I (demand) (in units) I (demand) (in units)

(c) (d)

HHd (TT)
Price (Rs.)
HHd (TTH)

Price (Rs.)
T
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44.

gheartia st & fau -
For visually challenged students -

Uil I HIAd H HH & HRU SR & AN g H ... T

(a) T R fousm (b) TR 3R TawewE
(c) TR &I AR =@ (d) = = IR =
Due to the decrease in the price of petrol, there will be in the demand

curve of the car.
(a) leftward shift (b)  rightward shift

(c) upward movement (d) downward movement

frefafad ol &1 eHgds afgu ok frefafaa & 9 @& fagey &
ERERCHIE I

HUF 1 - | A Geped, GHM AT ok % WY FR i R e Bl

FUT 2 - & TR aK HI HAd H g H HRO A G W F@T IR Bl
AR T 2

(a) =M wUT T ®
(b) < HUT FHA T
(c) U 1 TA ¢ 3N FHoH 2 ITA 2

(d) YT | A B N HUT 2 TA €

Read the following statements carefully and choose the correct alternative
from the following.

Statement 1:- Contraction in demand is an upward movement along the same
demand curve.
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45.

46.

Statement 2:-An increase in the price of a given commodity causes an
upward movement in the demand curve.

(a)  both statement are true

(b)  both statement are false

(c) Statement 1 is true and statement 2 is false

(d) Statement 1 is false and statement 2 is true

g a%g X H1 MUx = 60 3R o Y 1 MUy = 40 & q1 o9& X 1

HITd 12 TIC & q9 Tgo i T H 9% Y HI HEd F g2 (T
fosreq =1 w1 )

(a) Rs.8 (b) Rs.9
(c) Rs.10 (d) Rs.12

If MUx = 60 of article X and MUy = 40 of article Y and price of article X is
Rs.12, then what will be the price of good Y in equilibrium state? (Choose
the correct alternative)

(@) Rs.8 (b) Rs.9
(c) Rs. 10 (d) Rs. 12

U I& B HIED AF 0.2 71 AR T H HWd H 5% HI Ifg T T
qa o] &t A F forad wfae &1 e r? (e fowed F1 SR W)

@ 1% (b)  0.5%
© 2% d 5%

Price elasticity of a good is -0.2. If the price of the article is increased by 5%
then by what percent the demand for the article will decrease? (Choose the
correct alternative)

(@ 1% (b)  0.5%
© 2% d) 5%
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47.

48.

9 G deheiteh A1 ST € -
(a) Tomfaa stefegemen o (b) =™ AfRer AfrerEen H
(c) S sifiien sAefeHarsen | (d) et Afegaeen |

Labor intensive technology is chose in :
(a) developed economy (b) labor surplus economy

(c) capital surplus economy (d) open economy

ATHRUT (A): T TN T AT | ool U Teh AT SRV T

R (R) : 97 W2 & dga A1 @ ool @ W AT IFh A= e 2l

(a) AR (A) IR HROT (R) A1 T & 3R RO (A) AR (A)

H1 HEl A 2

(b) AR (A) 3R HNRUT (R) <A T & 3R RO (A) TR (A)

F T& e T 2

(c) eAfsher (A) @&l ®, Wfeh %RT(R) Terd R

(d) Ifsher (A) e €, |feRd %R (R) TET R

Assertion (A) : Budget set is a wider concept as compared to budget line.

Reason (R): The bundle of budget sets lies either on or before the budget

line.

(a)  both Assertion (A) and Reason (R) are true and Reason (R) is correct

explanation of Assertion (A).

(b)  both Assertion (A) and Reason (R) are true and Reason (R) is not the

correct explanation of Assertion (A).
(c)  Assertion (A) is true but the Reason (R) is false.

(d) Assertion (A) is false but the Reason (R) is true.
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@us: ‘9’ (Section-C)
12 U9 ® | 10 U9 ' A 2

10 questions out of 12 questions are to be attempted.

9T W& 49-54 % SR ARG sl % R W Ry 9 €

Q.No. 49-54 are to be answered on the basis of following data.

3T & U8l J@dle H Ush Thal H YN hiiehd SAEiftd fohan T
o, TSY T WWE % A% OIT MY USl 1 SR ol W SR FEER

qoTesg foram T

el &t ofars (S §) | 10-30 | 30-50 | 50-70 | 70-90 | 90-100

e F & 20 15 25 30 10

In the first fortnight of August tree plantation programme was organised in a
school after one week height of planted trees were measured and tabulated
as under:

Height of plants (in cm) 10-30 | 30-50 | 50-70 | 70-90 | 90-100

Number of plants 20 15 25 30 10

49. =t 70-90 1 o fae ® - (Wl fohey &1 =TT W)
(@ 70 (b 75
(c) 80 (d) 90
Class mark of class 70-90 is: (Choose the correct alternative)
(@ 70 (b)y 75
(c) 80 (d 90
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50.

51.

52.

53.

gl off i @ 22 (WS fasheq &1 wET &)

(a) 30-50 (b) 50-70

(¢) 70-90 (d) 90-110
Which is the modal class? (Choose the correct alternative)
(a) 30-50 (b) 50-70

(¢) 70-90 (d) 90-110

ofeEeRT o i @1 27 (Tet fased &1 999 )

(a) 30-50 (b) 50-70

(c) 70-90 (d 90-110

Which one is median class? (Choose the correct alternative)

(a) 30-50 (b) 50-70

(c) 70-90 (d) 90-110

50 IR W atfirer SoE ot Gl H1 ol Hew - (TEl faseu @
T A

(a) 40 (b) 30
() 55 (d) 65

Total number of plants above 50 cm in height: (Choose the correct
alternative)

(a) 40 (b) 30
) 55 d) 65

70 MR | FH SHIE a1 Ul 1 pA G@ - (TS fashey w1 =H
)

(a 60 (b) 40

() 35 (d) 25
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54.

Total number of plants with height less than 70 cm: (Choose the correct

alternative)
(a) 60 (b) 40
(c) 35 (d 25

SIF difetehl B ST 7T sTiehgl § HIfeaeR! A hited - (W& fased &1
ERERCTY)

(a) 58 (b) 60

(c) 6l (d 62

Find the median from the data given in the above table. (Choose the correct
alternative)

(a) 58 (b) 60

(c) 6l d 62

I HE&A 55-60 & S FrefefEad nssl & uR W Ky § W @-

Q.No. 55-60 are to be answered on the basis of the following data:

TE TR N @USH & Th ShUU § A S e ¢ S|l 6 2
T $EITYE R Tellderes g daR fhu Utk Tw A fe@men e €,

U2, o Yook 3R 98 SIS Yo hl AN 3AEd Ui A1 Eield HR

% fau gfa oo W 1,10,000 F9C ®, Sdfh geifees aEdl & fou I8
Hael 32000 TIC 2| T8 SEFAT B HA AN H 71% qF FH HL W T

AR, Ba oAl ®) Sedl g8 Wen 4 @M H ¢ % ®Y U FHH e

ST - HEI 1 RO & S8R 2030 & 1000 fafeas ¥9T 2035 T

2000 fafera equ @i 2040 @& 3000 fafer squ 5@t & ®9 4 %A

I B SRET i AN FH 8 % HRUN, A ATl hi AE TrRd
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55.

56.

3 & oy diearfed fran sTom iR g9 R o S=a) 8 S| =R
e h n o LY o . N o o
1T CER U2, Sieid, Bl a1 92t saifeer ored | aa1 7, firedis

Y gd 3ffush o STt 2

One of the attractions of buying a new electric car is the lower tax involved.
As a paper produced by the Tony Blair Institute for Global Change has
shown, the cost of petrol, fuel duty and vehicle excise duty is about Rs.
1,10,000 a year for the average petrol or diesel car, while for electric
vehicles it is only Rs 32,000.That reduces the overall cost of driving by 71%
and, as the switch to green vehicles accelerates, According to the report of
the institute, 1000 billion rupees by 2030, 2000 billion rupees by 2035 and
3000 billion rupees by 2040 will get less as tax in treasury. As the cost of
driving plummets, motorists will be encouraged to drive more and
congestion will get worse. There is a high cost from gridlock, no matter
whether a driver is sitting in a petrol, diesel, hybrid or battery electric
vehicle.

Source:-the Guardian Article dated 12.09.2021

AR A Seifeger a8 @iied i Wiy = 2 ©°?

(a) TEA HT F=d (b) A T T

(c) GlaursHs Fm (d) W H 9 HE T
Why do most people prefer to buy an electric vehicle?

(@) Time-saving (b) low taxation

(c)  convenient travel (d)  none of the above

~

SeifeRzeh oe 9 SISl oNTd fohan Ufaed ek & & Sl 872

@) 71% (b)  61%
) 81% d) 51%
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57.

58,

By what percent does an electric vehicle reduce driving costs?
(a) 71% (b) 61%
(c) 81% d) 51%

Soifageh dTeql ol WM o4, U2l diedl @i B W F Y9E GS?

(W& fameg =1 999 )

(a) M H HWep=A BN (b)y @M H faEr gmm
(c) #m ¥ gfg ernt (d) W HE B

What should be the effect on demand of Petrol Vehicles due to increase in
the demand of electric vehicles?

(a) Contraction in demand (b)  Extension in demand

(c) Increase in demand (e) Decrease in demand

frefafad ol &1 seaHgds afeu iR fefafad & 9 @& fawey &1
I IS -

HYA | - Soifoge aedl ¥ AfasT ¥ deAl sl W S 9 S|

FHOH 2 - SoifeReh a8 W QT &l e &g Sl 2l
(a) BF FHUT I ®

(b) T B TEA §

(c) YT | TA T 3N FHYH 2 ITA €

(d) YT | A B N HUT 2 TA €
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59.

Read the following statements carefully and choose the correct alternative

from the following.

Statement 1:- Electric vehicles will highly increase the number of vehicles in
the future.

Statement 2:- Electric vehicles increases the cost of driving.
(a)  both statement are true

(b)  both statement are false

(c) Statement 1 is true and statement 2 is false

(d) Statement 1 is false and statement 2 is true

MH (A): Seifoesh el &l ol | U2 a1 Siodd a8 i 3§

3k ! A HH Bl 2

HNOT (R) : SIfeReh a8 W TN A Jo ol |

(a) AMIHE (A) 3R HRO (R) T T & 3 HROT (A) AR (A)
1 T A 2

(b) AR (A) 3R HNRUT (R) <A1 T © 3R SR (A) TR (A)

F & @ T4 R

(c) afqeper (A) Wl 8, fehd RO (R) Tord &1

(d) eIfher (A) T €, dfeRd %R (R) WD R

Assertion (A) : Petrol or diesel vehicle has lower cost of exercise duty as

compared to electric vehicles.
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60.

Reason (R): Government impose lower tax on electric vehicles.

(a)

(b)

(c)
(d)

both Assertion (A) and Reason (R) are true and Reason (R) is correct

explanation of Assertion (A).

both Assertion (A) and Reason (R) are true and Reason (R) is not the

correct explanation of Assertion (A).
Assertion (A) is true but the Reason (R) is false.

Assertion (A) is false but the Reason (R) is true.

AfqeRed (A): BRA aTEl *1 dadl g5 GeN W TR § S % ®I § %Y

¥ S|

HNT (R) : : ST a6 W HHR o Tl ol 2|

(a)

(b)

(c)

(d)

ARTHLA (A) IR HROT (R) AT T € 3 RO (A) 3FIHEA (A)
*I WE AR R

TR (A) 3R HROT (R) <A T € 3R SR (A) fqHe (A)

F T& e T 2

Afasmem (A) T T, df SR (R) Tod 2

AMTHT (A) Teld ®, efeha HROT(R) Tl 21

Assertion (A) : With the increasing number of green vehicles, less money

will come in the form of tax in the treasury.

Reason (R): Government does not impose tax on electric vehicles.
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(a)  both Assertion (A) and Reason (R) are true and Reason (R) is correct
explanation of Assertion (A).

(b)  both Assertion (A) and Reason (R) are true and Reason (R) is not the
correct explanation of Assertion (A).

(c)  Assertion (A) is true but the Reason (R) is false.

(d)  Assertion (A) is false but the Reason (R) is true.
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